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1. What do you understand by Trusted systems? Draw a figure of reference monitor
concept and explain. [5+5+6]

2. (a) What do you understand by a file directory?
(b) Explain briefly the information elements of a file direct
(c¢) Explain what is tree-structured directory? [5+5+6]

3. Draw the block diagram of kernel, and explain the same. [8+8]
4. How the deadlocks can be avoided? Explaiffwgith of necessary algorithms.
[8+-8]
5. (a) Discuss the differences be aging and pure segmentation virtual
memory systems. What*a os and cons of each scheme?

(b) What are the thre€ main iss@es of implementing a virtual memory system?
(c) Commen relativg/merits of using a local versus a global page replace-
ment pol [645+5]
6. cht rocess is generally favoured by a multi-level feed back queuing

r, a'processor bound process or an I/O bound process? Briefly explain

(b) C0n51der a variation of round-robin that we will call priority round-robin. In
priority round-robin each process has a priority in the range of 1 to 10. When
a process is given a time slice the length of quantum is basic constant (say
50 ms) times the priority of the job. Compare this system with an ordinary
priority system. 848

7. (a) Write the Peterson's algorithm for the mutual exclusion problem and ex-
plain the same

(b) What is meant by Semaphore? Explain with an example. [8+8]
8. Discuss about the following:

(a) User-level threads
(b) Kernel-level threads
(¢) Multi-threadings. [5+54-6]
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1. (a) Which type of process is generally favoured by a multi-level feed back queuing

scheduler, a processor bound process or an I/O bound process? Brj explain
why?

(b) Consider a variation of round-robin that we will call pri -robin. In
priority round-robin each process has a priority in th 10. When

constant (say
with an ordinary

50 ms) times the priority of the job. Compare

priority system. [8+8]

2. What do you understand by Trusted syste a figure of reference monitor
concept and explain. [5+54-6]

3. Draw the block diagram of in each part of the same. [84-8]

4. Discuss about the follogfing:

a process is given a time slice the length of qua u

[5+5+6]
) the Peterson's algorithm for the mutual exclusion problem and ex-
plain the same
(b) What is meant by Semaphore? Explain with an example. [8+8]

6. (a) Discuss the differences between a pure paging and pure segmentation virtual
memory systems. What are the pros and cons of each scheme?

(b) What are the three main issues of implementing a virtual memory system?
(c) Comment on the relative merits of using a local versus a global page replace-
ment policy. [6+545]
7. (a) What do you understand by a file directory?

(b) Explain briefly the information elements of a file directory

(c¢) Explain what is tree-structured directory? [5+5+6]
8. How the deadlocks can be avoided? Explain with the help of necessary algorithms.
[8+8]
* * K Kk
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1. (a) Which type of process is generally favoured by a multi-level feed back queuing

scheduler, a processor bound process or an I/O bound process? Brj explain
why?

(b) Consider a variation of round-robin that we will call pri -robin. In
priority round-robin each process has a priority in th 10. When

constant (say
with an ordinary

50 ms) times the priority of the job. Compare$hi
priority system. [8+8]
2. Draw the block diagram of kernel, and exp chypart of the same. [8+8]
3. How the deadlocks can be a@ ith the help of necessary algorithms.
848

a process is given a time slice the length of quamtu

4. What do you understa y TruSted systems? Draw a figure of reference monitor
concept and explai [5+54-6]
5. (a) Discussgth ces between a pure paging and pure segmentation virtual

menfory Syst@ms. What are the pros and cons of each scheme?
(b) re the three main issues of implementing a virtual memory system?
(¢) Comment on the relative merits of using a local versus a global page replace-
ment policy. [6+545]

a) What do you understand by a file directory?

b)

(c)

(a) Write the Peterson's algorithm for the mutual exclusion problem and ex-
plain the same

6. (
(b) Explain briefly the information elements of a file directory

Explain what is tree-structured directory? [5+54-6]

(b) What is meant by Semaphore? Explain with an example. [8+8]
8. Discuss about the following:

(a) User-level threads
(b) Kernel-level threads
(¢) Multi-threadings. [5+54-6]
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1. (a) Discuss the differences between a pure paging and pure segmentation virtual
memory systems. What are the pros and cons of each scheme?

(b) What are the three main issues of implementing a virtual m stem?
(c) Comment on the relative merits of using a local versus ob e replace-
ment policy. [6+5+5]
2. (a) Write the Peterson's algorithm for the mutual &c lem and ex-
plain the same
(b) What is meant by Semaphore? Explaiifggith%an example. [8+8]
3. Discuss about the following:
(a) User-level threads
(b) Kernel-level threa
(¢) Multi-threadings. [5+5+6]
4. How the deadlo e avoided? Explain with the help of necessary algorithms.
[8+8]
5. Draw t ock diagram of kernel, and explain each part of the same. [8+8]
6. (a) Which type of process is generally favoured by a multi-level feed back queuing

scheduler, a processor bound process or an I/O bound process? Briefly explain
why?

(b) Consider a variation of round-robin that we will call priority round-robin. In
priority round-robin each process has a priority in the range of 1 to 10. When
a process is given a time slice the length of quantum is basic constant (say
50 ms) times the priority of the job. Compare this system with an ordinary
priority system. [8+8]

7. What do you understand by Trusted systems? Draw a figure of reference monitor
concept and explain. [5+5+6]

8. (a) What do you understand by a file directory?
(b) Explain briefly the information elements of a file directory
(c) Explain what is tree-structured directory? [5+546]
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